SuMPO EPD SUMPOIRIESAINTOT 5 L

SEUME’OD _ — A EE A Y AT AR S
.. AAAAA S4TNBESE (EPD) HRETFAERAME1-14-8
VERIFIED KANDA SQUARE GATE
B8%x&EFS ¢ JR-Al-24406E https://ecoleaf-label jp

SHARP
y—THAE#

(Sharp Corporation)

TORINEER

(DIGITAL MULTIFUNCTIONAL SYSTEM)

BP-50M26 (EU)

HEHNL BHRES JR-AI-24406E
BHE1AHEY EAPCRES  PA-590000-Al-08
PCR#% B A H 2R (55 8RR]
HENRERFE 2AFA 2024%10831H
[ j5d WL SE REAEETEE 2024108238
OREMRFAE QfE ORE OFER-HIFEE ®BiIsk VAT LFREEA R
®FE-UT1I RILES FV-08-24031
RIEEEIM 20294108 22H
HROBK, TELK- T PCRLE1-DENE
Bz : BP-50M26 REBZ 2023F 9818
AR ¢ BFEEAR (EP) £E8E Wik 82
ERETRE 0 E/70: 260y (A43D) — B R A AT F IR A
BARHEYIX © A3UAF E=HIRALE*
TUV/AE-/AxvY  1ELERAE HNERIREER & T

T ENRI/ADF : 1Z2AEL
ISO14025( 48> 1o AR E & R U'T -5 O LIAREE
ORER WA
*YAT LRI EZ I EEERNORIEDBEE. VAT LRHLZITEEEED
ZETEHE.
FLEDhEE
Iv-THARE AV-PEIRAYYI-Y3VEERER
E-mail:ECOLEAF-BS@sharp.co.jp
Ei#xES ¢ JR-Al-24406E



SuMPO EPD SUMPORRIESAIN SOOI s

SUNES — AR EEA Y AT IR B S
o ‘..E PD 1T NEEES (EPD) HREBT RERAHE1-14-8
VERIFIED KANDA SQUARE GATE
B#ES ¢ JR-AI-24406E https://ecoleaf-label.jp
OF1TY1 VIV EFMmiER
0% 20% 40% 60% 80% 100%
SURZE) IPCC 2013 GWP 100a 750 | kg-COqeq
73 (4 0.55 | kg-SO2eq
ERHE 039 | kg-Sbeq
m DR # 57 mQA%E = Q&
BOER-HEERE BOEE-UYAIIL
A3 IEH|  Bff At | OE#pREE Q%E Qi | @Em-#EER ORE-UFIL
SUEZE IPCC 2013 GWP 100a| kg-CO.eq | 7.5E+02 | 5.1E+02 | 1.6E+01 6.0E+01 6.4E+01 9.5E+01
74k 24 kg-SOzeq | 5.5E-01 4.0E-01 2.3E-03 6.5E-02 2.2E-02 5.5E-02
BERHE kg-Sbeq 3.9E-01 3.8E-01 3.1E-05 2.5E-04 7.0E-03 9.0E-05
IER Hifi wH-9E (ERES) Hifi
FEBLEAHER 4.4E+01 kg o peki] 2.5E+01 kg
BATRER 9.1E+01 kg SusS 1.3E+00 kg
FIVIZUL 1.4E-01 kg
ZOtERE 1.8E-01 kg
T5AFYY 3.0E+01 kg
G 7.3E-02 kg
A5 1.7E+00 kg
1A 1.3E+01 kg
R AR EAR 2.2E+00 kg
ZDits 4.3E+00 kg

GEEHRICEATZEMIER
CBEOMERT - RN
-(EFEHM%E 5 £/, ENRIFEKEE 101,400 LT REBEEMEEHLTWET,
26 (J3J/8) x 13 (Ky/Y37) +4x5 (H/AB) x 4 (B/A) x12 (A/F) x5 (%) =101,4001%
-EIRIEROREBEW RS ENTWEEA,
CBRETEICAVRYTUAICBVTRELEES - E#E5# EPAR)
CERIRINF-RI-TOTILVer3 0[CRRVEELTWET,

©-1.ZDMDIRFERIE ISR

AEROMEIEEETERBTHERAMAE M—DEE(L 1ISO14001 RIS TIHICTITTON TV,

DERLEZRT-90DEZ A
JREIL, IDEA v2.1.3 RU SUMPOERIEINN SOOI L% 57T -Fv1.18 ZEALTWET,

®fiF%E

OT-YETENH LR PCRELVEE - EERBESRL LA,
OLLEIIOVWTE, EE - EERBICRESNREEBLLLGELLIRHONEEA,
(B BR5URL ! https://ecoleaf-label jp/regulation/)

fag
o
i
djo

 JR-AI-24406E



